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Important Instructions: 
 The question paper contain 200 questions         Total marks: 200 
 All questions are compulsory                       Time: 3 Hrs.  
 One question carry one mark only         
 Negative marking will be 0.33 

                    
1. Mode of transmission of Pertussis:   

(a) Vector transmission     

(b) Through contaminated water    

(c) Droplet infection     

(d) Faecoaral 

 

2. Caput succedaneum is     

(a) Birth mark      

(b) Swelling on the face of the body    

(c) Collection of fluid under scalp    

(d) Swelling will not cross the suture line 

 
3. Time required to measure the Mantaux test:                   

(a) 24 to 48 hrs                      (b) 48 to72 hrs                             

(c) 10 to12 hrs                       (d) 2 to 4 hrs 

 
4. When a patient in is liver failure, which of the 

following behavioral changes is the most important 

assessment to report?     

(a) Shortness of breath (b) Lethargy   

(c) Fatigue  (d) Nausea 

 
5. A client with ovarian cancer is being treated with 

vincristine. The nurse monitors the client, knowing 

that which manifestation indicates an adverse 

effect specific to this medication?                                      

(a)  Diarrhea   (b)  Hair loss   

(c)  Chest pain   (d)  Peripheral neuropathy 

 

6. Under integrated management of neonatal and 

childhood illness care is rendered to    

(a) Only newborn      

(b) Under five children     

(c) months to 5-year old children    

(d) Age up-to 2 months & 2 months-5 year old children 

 
7. The following are the standard tuberculosis drug 

except:       

(a) Chloromycin   (b) Streptomycin   

(c) INH    (d) PAS 

 
8. Which of the following clinical indicates the patient 

is experiencing Hypokalemia?    

(a) Edema   (b) Muscle spasms  

(c) kussmaul breathing  (d) Abdominal distention 

 

9. Combination of Triple Antigen:    

(a) DPT       (b) BCG   

(c) TAB       (d) ECG  

 
10. A 20 month old is to receive isolyte-p 240 ml IV in 6 

hours. The drop factor of the mini dropper is 60 

drops/ml. The nurse should regular the IV to run at 

(a) 36 drops per min  (b) 40 drops per min  

(c) 32 drops per min             (d) 20 drops per min 

 
11. The time interval between infection of suspected 

person and the appearance of signs and symptom 

of the disease is called     

(a) Quarrentine   (b) Recovery period  

(c) Incubation   (d) Isolation period  

 
12. Total blood volume of a newborn at birth is  

(a) 80 ml/ Kg   (b) 100 ml/kg   

(c) 125 ml/kg   (d) 150 ml/kg  

 
13. Route of transmission of Hepatitis B:   

(a) Oral    (b) Potential   

(c) Faeco oral   (d) Contaminated water  

 
14. The enzyme released by the sperm which allows 

penetration of the ovum is called    

(a) Amylase   (b) Hyaluronidase  

(c) Lipase   (d) Trypsm  

 
15. Mode of transmission of typhoid fever:   

(a) Intravenous   (b) Oro facial   

(c) Respiratory   (d) Droplet 

 
16. Proteins are required for    

(a) Weight reduction     

(b) Absorption of calcium     

(c) Maintenance of body tissues    

(d) Synthesis of steroid hormones  

 
17. Causative organism of diphtheria:   

(a) Mycobacteria      

(b) Streptococcus      

(c) Coryne Bacterium diphtheria    

(d) Staphylococcus  

 
18. The reason for using the parental route to 

administer medications includes    

http://www.mannatacademy.com/


Mannat Group of Nursing Academy 
NORCET (TEST-2) 

 

www.mannatacademy.com 
    2 

Head office: SCO 112 – 113 4th Floor, Sector 34 – A, Chandigarh 
Our Study Centre at: Mandi (HP) | Kangra | Shimla | Jammu | Amritsar 

(a) Parental medications last longer than an oral 

medication      

(b) It is the least expensive method    

(c) It is easier to measure an accurate dose   

(d) The parenteral route allows more rapid absorption 

than the oral route  

 
19. Incubation period of measles:    

(a) 1 – 7 days   (b) 7 - 14 days   

(c) 14 – 21 days   (d) 21 – 28 days  

 
20. A skin infection that can be a sequel of a 

staphylococcal infection is    

(a) Herpes simplex  (b) Scabies   

(c) Intertrigo   (d) Impetigo  

 
21. Site for mantaux test:      

(a) Outer & upper quadrant of gluteus maximus  

(b) Deltoid region     

(c) Posterior left forearm      

(d) Anterior left forearm 

 
22. The concept of “Multipurpose Health Worker” was 

given by      

(a) Kartar singh committee    

(b) Shrivastav committee     

(c) Chadha committee     

(d) National health policy  

 
23. Which hormone control the BP 

    
(a) Erythropoitin   (b) pepsin   

(c) ptyalin   (d) renin  

 
24. Media of transmission of bovine type of tubercle 

bacilli:       

(a) Milk       (b) Water    (c) Air     (d) Food  

 
25. The principal feature of Kwashiorkor is   

(a) Visible muscle wasting     

(b) Severe fat wasting     

(c) Usually good appetite     

(d) Edema in lower legs & face  

 
26. Painful Micturition:     

(a) Eneuresis   (b) Dysuria   

(c) Rentention of urine  (d) Diarrhoea 

27. The safest method of termination of pregnancy 

before 12 week is      

(a) Suction evacuation  (b) Dilatation & curettage 

(c) Laminaria tent  (d) Prostaglandins 

 
28.  Amount of solution used for evacuant enema in 

adults:       

(a) 100 – 250 ml   (b) 250 – 350ml   

(c) 500 – 1000ml  (d) 1000 – 1500 ml  

 
29. Inadequate intake of which vitamin by the 

pregnant woman may cause neural tube defects? 

(a) Niacin   (b) Riboflavin   

(c) Folic acid   (d) Thiamine  

 
30. Drugs used to relieve pain:    

(a) Anti-inflammatory  (b) Antipyretics   

(c) Antibiotics   (d) Analgesics 

 
31. India accounts for nearly of the global incidence of 

tuberculosis      

(a) 50 %       (b) 25%      (c) 20%  (d) 33%  

 
32. Hormone secreted by the testes:    

(a) Oestrogen   (b) Pitocin   

(c) Androgens   (d) Progesterone  

 
33. In trachoma the patient is infectious when there is 

(a) Arlt's line       

(b) Herbert's pits              

(c) Post-trachomatous concretions    

(d) Follicles and papillae in the palpebral conjunctiva. 

 

34. One teaspoon contains …………. Ml   

(a) 2ml    (b) 5ml        (c) 10ml (d) 15ml 

 
35. Involution of uterus is completed by   

(a) 6 weeks   (b) 8 weeks   

(c) 12 weeks   (d) 16 weeks  

 
36. One ml contains ……….. drops    

(a) 5 drops     (b) 10 drops    (c) 15 drops   (d) 20 drops  

 
37. The uterine blood flow at term    

(a) 50 ml/min   (b) 100 – 150ml/min  

(c) 350 – 375 ml/min  (d) 500 – 70 ml/min  

 
38. Average weight of a new born baby:   

(a) 2 kg            (b) 4 Kg  (c) 3kg       (d) 5kg  

 
39. The mean cardiac output of fetus is   

(a) 100 ml/kg/min  (b) 225 ml/kg/min  

(c) 350 ml/kg/ min  (d) 415 ml/kg/min 
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40. How much salt must be added to one litre of water 

to make a solution of normal saline?   

(a) 2 grams   (b) 5 grams   

(c) 6 grams   (d) 9 grams 

 

41. Which of the following is a preparation of choice 

for a patient who has been admitted in E.D with an 

open contaminated injury and no recent history of 

tetanus immunization?     

(a) DTP vaccine   (b) Tetanus toxoid  

(c) Tetanus antitoxin           (d) Tetanus immunoglobulin 

 
42. Number of vertebra in the sacrum:   

(a) 5 (b) 3       (c) 4  (d) 1  

 
43. Normally newborn lose weight in 1st week of life 

(a) 1 % of birth weight     

(b) 5 % of birth weight     

(c) 10 % of birth weight     

(d) 20 % of birth weight 

 
44. Number of chromosome in a cell:    

(a) 23  (b) 44  (c) 46  (d) 40  

 
45. The immunity developed as a result of infection by 

pathogenic organism is     

(a) Active immunity  (b) Passive immunity  

(c) Natural immunity  (d) Acquired immunity  

 
46. A trial septal defect occurs due to persistence of:  

(a) Formen ovale   (b) Ductus arteriosus  

(c) Ductus venosus  (d) Mitral valve 

 
47. Anti D should be given following Rh+ve delivery 

within       

(a) 6 hrs       (b) 24 hrs (c) 72 hrs    (d) 7 days 

 
48.  ……. is a water soluble vitamin:    

(a) Vitamin A   (b) Vitamin K   

(c) Vitamin B   (d) Vitamin D  

 
49. The population served by a sub center in plain 

areas is       

(a) 1000      (b) 5000       (c) 30000      (d) 80000  

 
50. Quickening means:     

(a) Hearing of the fetal heart sound    

(b) Sudden cessation of Menstruation   

(c) Movement of the feuts in the uterus felt by mother 

(d) Nausa and vomiting in the morning 

 
51. The vaccine used for the prevention of cervical 

cancer is      

(a) BCG        (b) IgG    (c) Hep B     (d) HPV  

 
52. Cholera is caused by a kind of bacterium called:  

(a) Tubercle bacillus  (b) Vibrio cholera  

(c) Protozoa   (d) Entamoeba histolytica 

 
53. The first person becoming sick in an epidemic is 

called       

(a) Primary case   (b) Secondary case  

(c) Contact case   (d) Index case  

 
54. Drinking of alcohol will severely effects the  

(a) Kidney   (b) Brain   

(c) Stomach   (d) Liver  

 
55. Most appropriate age for early primary 

immunization against TB, diphtheria, whooping 

cough, tetnus polio, measles and hepatitis B is  

(a) Birth to 6 months  (b) Birth to 9 months  

(c) Birth to 1 year  (d) Birth to 18 month 

 
56. Identify the marked                       

    
(a) Uterus   (b) Ovary   

(c) Cervix   (d) Vagina 

 
57. The disease in which the Patients’ blood does not 

clot easily is:      

(a) Sickle cell anaemia  (b) Haemophilia   

(c) Rabies   (d) Diabetes  

 
58. EPI includes all vaccines except    

(a) DPT      (b) MMR         (c) Polio          (d) BCG  

 
59. Discolouration of teeth is caused by a kind of 

antibiotics called     

(a) Streptomycin   (b) Neomycin   

(c) Tetracycline   (d) Penicillin 

 
60. A 28 year old male patient is admitted the hospital 

for a suspected brain tumor. While assessing this 

patient nurse would keep in mind that the most 

reliable index of cerebral status is   

(a) Pupil response  (b) Deep tendon reflexes  

(c) Muscle strength              (d) Level of consciousness  

 
61.  …….is caused by the fungus     

(a) Malaria   (b) Athletes foot   

(c) Filariasis   (d) Typhus fever 
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62. Pain left in calf muscle when the dorsiflexed with 

the leg extended at the knee is called is   

(a) Kernig’s sign   (b) Spalding’s sign  

(c) Homan sign   (d) Goodell’s sign 

 

63. The Filariasis is transmitted by ……..    

(a) Anopheles female mosquito    

(b) Anopheles male mosquito    

(c) Culex female mosquito     

(d) Culex male mosquito  

 
64. A young patient who was hit by a car was fortunate 

because the level of his injury did not interrupt his 

respiratory function. The cord segments involved 

with maintaining respiratory function are  

(a) Thoracic level 5 & 6     

(b) Thoracic level 2 & 3     

(c) Cervical level 7 & 8     

(d) Cervical level 3 & 4  

 
65. The blood group contain no antibodies:   

(a) A           (b) B            (c) O  (d) AB  

 
66. Physiological anaemia in pregnant woman is a 

result of       

(a) Poor dietary intake of iron     

(b) Increased erythropoiesis    

(c) Increased blood volume of women   

(d) Increased detoxification demands 

 
67. Disease that spread through sexual contact is  

(a) Leprosy        (b) AIDS  (c) Itches     (d) Scabies  

 
68. Strawberry spot vagina is seen in   

(a) Candida   (b) Trichomonas   

(c) CMV    (d) Herpes simplex 

 

69. Typhoid is transmitted through –   

(a) Water and food  (b) Air    

(c) Touch   (d) Personal contact 

 
70. A way to promote trust with a patient is to  

(a) Allow family members to visit whenever they want 

(b) Assure the patient that her doctor is excellent  

(c) Follow through when you say you will do something 

(d) Talk with patient about her life, likes and dislikes  

 
71. __is example for the disease caused by bacteria:              

(a) Cold    (b) Typhoid   

(c) Typhus fever   (d) Chicken pox  

 
72.  The first dose of VIT A is given at the age of  

(a) 1½  year   (b) 2 years   

(c) 9 months   (d) 6 months  

 
73. ………….is the immunity gets by the body after the 

first attack of disease.     

(a) Natural immunity  (b) Passive immunity  

(c) Artificial immunity  (d) Acquired immunity 

 
74. Normally by one year of age the birth weight of an 

infant should increase by    

(a) 1.5 times   (b) 2 times  (c) 3 times    (d) 4 times  

 
75. The cells that are responsible for the production of 

antibodies are …….      

(a) Red blood cells  (b) Platelets   

(c) Plasma   (d) White blood cells 

 
76. Tertiary prevention is needed in which stage of the 

natural history of disease?    

(a) Pre-pathogenesis  (b) Pathogenesis   

(c) Predromal   (d) Terminal  

 
77. A healthy person can donate blood …… or ….. Times 

a year.       

(a) Six or seven   (b) Five or six   

(c) Three or four   (d) Two or three  

 
78. Non-stress test is prescribed for a pregnant mother 

and nurse about the procedure. The nurse tells the 

client that       

(a) The test is an invasive procedure and required that 

an informed consent be signed    

(b) The test will take about 2 hours and will require 

close monitoring for 2 hours after procedure is 

completed      

(c) An ultrasound transducer that record fetal heart 

activity is secured over the abdomen where the fetal 

heart sound is heard most clearly    

(d) The fetus is challenged or stressed by uterine 

contractions to obtain the necessary information 

 
79.  Radio-active cobalt and radium are used for the 

treatment of –diseases.     

(a) Cholera   (b) Haemophilia   

(c) Cancer   (d) Sickle cell anaemia 

 
80. The physician has ordered a 24 hours urine 

specimen. After explaining the procedure to the 

patient, the nurse collects the first specimen. Thus 

specimen is then     

(a) Discarded then the collection begins   

(b) Saved as pan of the 24 hours collection   

(c) tested then discarded     

(d) Placed in a separate container and later added to 

the collection 
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81. World health day is on …….     

(a) May 12th    (b) April 7th     

(c) April 30th    (d) December 18th  

  

82. Communicability of measles declines   

(a) After onset of fever     

(b) During Predromal period    

(c) At the time of eruption     

(d) After appearance of trash  

 
83. To relieve from dyspnoea the appropriate position 

to be used is:      

(a) Prone position  (b) Supine position  

(c) Side lying position  (d) Fowler’s position  

 
84. The nurse will evaluate for the most significant 

complication in the patients undergone chronic 

peritoneal dialysis, which is    

(a) Pulmonary embolism  (b) Hypotension   

(c) Dyspnea   (d) Peritonitis  

 
85. Protein requirement for a pregnant woman per 

day:       

(a) 50 grams     (b) 55 grams     

(c) 60 grams   (d) 65 grams  

 
86. BCG, Measles, MMR vaccines should be stored in  

(a) 10 – 120C   (b) 20 – 250C   

(c) 2 to 80C   (d) 15 to 200C  

 
87. The fundus is at the level of umbilicus during ……. 

week pregnancy      

(a) 16            (b) 20     (c) 24                (d) 28  

 
88. When a patient’s medical record is needed as 

evidence for a legal action, you are aware that the 

record is the property of     

(a) The patient   (b) The patient’s Lawyer  

(c) The court   (d) The health care agency 

 
89. Total weight gain during pregnancy is   

(a) 7 – 8 kg   (b) 10 – 11 kg   

(c) 13 – 14 kg   (d) 15 – 16 kg  

 
90. In India which of the following functions as First 

Referral Units (FRUs)?     

(a) Sub – centers   (b) Primary health centers 

(c) Community health centres (d) Regional hospitals 

 
91. The birth weight of the baby doubles at the age of 

(a) 3 months   (b) 6 months   

(c) 9 months   (d) 12 months  

 

92. The main objective of intensive IEC activities for 

leprosy program is     

(a) Cure of illness   (b) reduction of stigma  

(c) Case identification  (d) Eradication of disease 

 
93. Infancy period is from     

(a) Birth to one month  (b) One month to 1 year  

(c) 1 years to 3 years  (d) 3 years to 5 years 

 
94. Promotion of infant and young child feeding 

practice is encompassed along with continuation of 

complementary feeding up to    

(a) One year of life  (b) Two year of life  

(c) Three years of life  (d) Four years of life  

 
95. The following are the signs of dehydration except: 

(a) Sunken tearless eyes  (b) Loss of skin elasticity  

(c) Diuresis   (d) depressed fintenelle  

 
96. Thrombophlebitis is common complication 

following vascular surgery. Which of the signs 

indicates that possible thrombus has occurred?  

(a) Kernig’s sign   (b) Hagar’s signs   

(c) Homan’s signs  (d) Brudzinski’s sign  

 
97.  The following are the contests of ORS except:  

(a) Sodium chloride  (b) Sugar   

(c) Potassium Chloride        (d) Calcium Carbonate 

 
98. The extra calories needed by a woman having 

singleton pregnancy     

(a) 100 Kcal   (b) 200 Kcal   

(c) 300 Kcal   (d) 500 Kcal  

 
99. The most common form of malnutrition are the 

following except      

(a) Beri – beri   (b) Protein energy malnutrition  

(c) Marasmus   (d) Kwashiorkor  

 
100. Which of the following principle guides nurses’ 

priorities at a disaster caused by a collapsed 

building in an earthquake?    

(a) Hemorrhage necessitates immediate care to save 

most lives      

(b) Those requiring minimal care are treated first so 

that they can help others     

(c) Those with head injuries are treated first so that 

their care more complex     

(d) Children should get highest priority because they 

have the greatest life expectancy 

101. The first course of oral pills should be stared on 

the ….. Day of menstrual cycle.    

(a) 2nd        (b) 7th    (c) 5th      (d) 10th  
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102. Mantoux test is done to diagnose   

(a) Malaria   (b) Filarial   

(c) Tuberculosis   (d) TyphoidAIIMS 

 
103. Identify                                          

                              
(a) Radius   (b) Carpus   

(c) Meta carpus   (d) Phalanges  

 
104. The following are the natural method of 

contraception except:     

(a) Foam tablet      

(b) Basal metabolic temperature    

(c) Rhythm method     

(d) Safe period 

 
105. Bitot’s spots are due to the deficiency of   

(a) Vit B   (b) Vit A   

(c) Vit D   (d) Carbohydrates  

 
106.  ……… is the permanent method of sterilization.  

(a) MTP   (b) Diaphragm   

(c) Tubectomy   (d) b & C  

 
107. A 45 years old patient Mrs. Bhagwati Devi has just 

been admitted to the hospital for an abdominal 

hysterectomy following a diagnosis of uterine 

cancer. Results of lab tests indicate that the 

patient’s WBC is 9800/cu mm. The most 

appropriate intervention is to    

(a) Call the operating room and cancel the surgery  

(b) Notify the surgeon immediately   

(c) Take no action as this a normal value   

(d) Call the lab and have the test repeated  

 
108. The following organs are situated in the 

abdominal cavity except:    

(a) Stomach   (b) Oesophagus   

(c) liver   (d) Spleen  

 

109. The results of Mantous test are read after  

(a) 6 hrs     (b) 24 hrs (c) 48 hrs     (d) 72 hrs 

 
110. The system of body which helps for the removal of 

waste matter from body:    

(a) Digestive system  (b) Endocrine system   

(c) Respiratory system  (d) Excretory system  

 

111. Chikungunya is a non-fatal ….illness   

(a) Viral   (b) Bacterial   

(c) Protozoan   (d) Plasmodium  

 
112. Total number of bones in human body:   

(a) 306    (b) 206    

(c) 106    (d) 406  

 
113. Strongest stimulus of lactation is by   

(a) Metocloramide  (b) PPH    

(c) Bromocriptine  (d) Sucking 

 
114. Eruption of teeth starts at the age of…. Month  

(a) 4 months   (b) 6 months   

(c) 8 months   (d) 10 months  

 
115. The number of deaths per 1,000 populations per 

year in a given community is known as   

(a) Crude death rate  (b) Infant death rate  

(c) Neonatal death rate  (d) Perinatal death rate 

 
116. The nerve, which carries messages from the brain 

and spinal cord muscles and glands:   

(a) Motor nerve   (b) Sensory nerve  

(c) Mixed nerve   (d) Autonomic nerve 

 
117. A pregnant woman admitted in labour room is 

attached to external electronic fetal monitor 

Nurse should do initial nursing assessment which 

of the following?     

(a) Identifying types of accelerations   

(b) Assessing baseline fetal heart rate   

(c) Determining frequency of the contractions  

(d) Determining intensity of the contractions  

 
118. Speech centre is situated in:    

(a) Perietal lobe   (b) Frontal lobe   

(c) Occipital lobe  (d) Temporal lobe 

 
119. When serum bilirubin rises in 3rd and 4th day 

after birth of the baby due to inefficient hepatic 

function is known as     

(a) Pathological jaundice     

(b) Physiological jaundice     

(c) Obstructed jaundice     

(d) Viral hepatitis 

 
120. Largest gland in the body:    

(a) Pituitary gland  (b) Adrenal gland  

(c) Liver   (d) Gall bladder  

 
121. Rice water stool is the typical sign of   

(a) Cholera   (b) Hepatitis A   

(c) Hepatitis B   (d) Dysentery 
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122. Head control of the infant occurs at the age of … 

month       

(a) 2        (b) 3              (c) 5 (d) 6  

 
123. The assessment finding that should be reported 

immediately should it develop in the patient with 

acute pancreatitis is     

(a) Nausea and vomiting  (b) Abdominal pain  

(c) Decreased bowel sounds (d) Shortness of breath 

 
124. Peurparium is the period begins:   

(a) As soon as placenta is expelled & last for 6 - 8 

weeks                               

(b) As soon as baby is expelled & last for 6 to 8 weeks 

(c) As soon as the membrane ruptures and last for 6 

to 8 weeks      

(d) As soon as placenta is expelled & last for 10 - 12 

weeks  

 
125. A nurse is assessing a child for dehydration The 

nurse determines that the child is moderately 

dehydrated if which of the symptom is noted  

(a) Flat fontanels       (b) Moist mucous membrane  

(c) Pale skin color     (d) Oliguria 

 
126. When the umbilical cord lies in front of the 

presenting part and the membranes are intact it is 

known as:      

(a) Cord prolapsed (b) Cord presentation  

(c) Cord pulsation  (d) Cord delivery  

 
127. The nurse knows that the most informative 

measurement for determining cardiogenic shock 

(a) Arterial blood pressure    

(b) Central venous pressure    

(c) Pulmonary artery pressure    

(d) Cardiac index  

 
128. Starting of menstrual cycle is called:   

(a) Ovulation   (b) Menstruation   

(c) Menarche   (d) Menopause 

 

129. Which immunization produces a permanent scar? 

(a) DPT    (b) BCG    

(c) Measles vaccination  (d) hepatitis B vaccination 

 
130. Normal blood urea level is:    

(a) 40 – 60 mg%   (b) 20 – 40 mg%   

(c) 10 – 20 mg%   (d) 80 – 120 mg%  

 
131. To disinfect 20 liters of water, one should use a 

single chlorine tablet of     

(a) 0.5 g          (b) 1.5 g (c) 2.5 g  (d) 3.5 g  

 
132. One gram of carbohydrate yields:   

(a) 4 calories   (b) 8 calories   

(c) 9 calories   (d) 1 calorie 

 
133. Expenditure in health sector on public health is 

about of the GDP     

(a) 1%      (b) 2% (c) 5%   (d) 6%  

 
134. A method of making the victim to breath passively 

(a) Artificial respiration  (b) Spontaneous respiration 

(c) Deep breathing  (d) Kusmal breathing 

 
135. Which of the following system of medicine is of 

Indian origin?      

(a) Homeopathy   (b) Siddha   

(c) Unani-tibb   (d) Acupuncture 

 
136. Minute, this walled blood vessels between the 

ends of the arteries and beginning of veins is 

called:       

(a) Arteries   (b) Veins   

(c) Capillaries   (d) Alveoli  

 
137. Immunity by antibody formation during the 

course of a disease is     

(a) Active natural immunity    

(b) Active artificial immunity    

(c) Passive natural immunity    

(d) Passive artificial immunity  

 
138. A waste gas produced by the body and exhaled 

through the lungs is:     

(a) Carbon dioxide  (b) Carbon monoxide  

(c) Nitrogen peroxide  (d) Oxygen  

 
139. Dyspnea associated with congestive heart failure 

is primarily due to     

(a) Blockage of a pulmonary artery by an embolus  

(b) Accumulation of fluid in the interstitial spaces  

(c) Blockage of bronchi by mucous secretions  

(d) Compression of lungs by the dilated heart 

 
140. A condition characterized by moving of bones out 

joint:       

(a) Fracture   (b) Sprain   

(c) Strain   (d) Dislocation  

 
141. Which of the following Anti tuberculosis drug id 

bacteriostatic      

(a) Rifampicin   (b) Ethambutol   

(c) INH    (d) Streptomycin 
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142. A tube of muscular tissue carrying ingested food 

from the mouth to stomach:    

(a) Oesophagus   (b) Duodenum   

(c) Trachea   (d) Pharynx  

 
143. Which one of the following Statements best 

describes health? Health is    

(a) A relative of being     

(b) The total state of physical and physiological 

wellness      

(c) The state of functioning well physically mentally 

and socially      

(d) Being free of sickness of infinity 

 
144. A red pigment in the blood cells which combines 

with oxygen and carbon dioxide for carrying 

them:       

(a) Red blood cells  (b) Haemoglobin   

(c) Platelet   (d) Plasma  

 
145. Teritary level of prevention of disease is related to  

(a) Vaccination      

(b) Good nutrition     

(c) Rehabilitation to normal physical, mental and 

social health      

(d) Good test and sleep  

 
146. Information given by the sufferer about his 

illness:       

(a) Sign   (b) Symptom    

(c) Observation   (d) Diagnosis  

 
147. Major route of transmission of Hepatitis A is  

(a) Feco-oral route  (b) Parental route  

(c) Sexual transmission  (d) Perinatal transmission 

 
148. Signs of separation of placenta are the following 

except:       

(a) Lengthening of the cord at vulva   

(b) Gush of blood is seen     

(c) Fundus risas upto umbilicus    

(d) Temperature rises 

 
149. Placental bed blood circulation through   

(a) Villi    (b) Spiral arteries  

(c) Chorionic membrane  (d) Perinatal artery 

 
150.  Signs of true labour are the following except:  

(a) Painful rhythmic uterine contraction   

(b) Dilatation of the OS     

(c) Fetal movement     

(d) Show  

 

151. The danger of convulsion in a woman with 

preeclampsia ends     

(a) After labor begin  (b) After delivery occurs  

(c) 24 hours postpartum   (d) 48 hours postpartum 

 
152. Characteristic of the blood flow due to arterial 

bleeding is the following except:   

(a) Bright red in colour     

(b) Spunts at each cartrachian of the heart   

(c) Flow is pulsatile     

(d) Dark red in colour  

 
153. Herd immunity does not protect an individual in  

(a) Diphtheria   (b) Poliomyelitis   

(c) Smallpox   (d) Tetanus  

 
154. An agent that has power to kill Micro-organism: 

(a) Bacteriostat   (b) Bacteriocide   

(c) Antiseptic   (d) Bacteriostasis  

 
155. Isoniazid (INH) is prescribed for a2 yrs old child 

with a positive Mantous test. The mother of the 

child asks the nurse how long the child will need 

to take the medication. The nurse tells the mother 

that the medication will need to be taken for  

(a) 6 months   (b) 9 months   

(c) 12 months   (d) 18 months 

 
156. Strength of savlon forcleaning of wounds:   

(a) 1:10      (b) 1:100       (c) 1:1000   (d) 1:10000  

 
157. Which of the following assessment finding is 

typical of extracellular fluid loss?   

(a) Distended jugular veins    

(b) Elevated hematocrit level    

(c) Rapid thread pulse     

(d) Increased serum sodium level 

 
158. What is This                                     

    
(a) laryngoscope       (b) Ambu bag   

(c) Endotracheal intubation (d) Oxygen mask 

 
159. Inflammation of the tongue:    

(a) Glossitis   (b) Gingivitis   

(c) Stomatitis   (d) Parotitis 

 
160. Following are predisposing cause for bedsore 

except       
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(a) Impaired circulation  (b) Lowered vitality  

(c) Emaciation   (d) Anorexia  

 
161. Inability to sleep is termed as:    

(a) Dyspepsia   (b) Dyspnaea   

(c) Anorexia   (d) Insumania  

162. Tobacco contains a poisonous substance called  

(a) Nicotine   (b) Narcotics   

(c) Alcohol   (d) Caffeine  

 
163. A disease caused by allergic disease is called  

(a) Asthma   (b) Tuberculosis   

(c) Cancer   (d) Gastroenteritis  

 
164. An adult has …… litres of blood in his body.  

(a) 7 – 8        (b) 5 – 6     

(c) 9 – 10    (d) 2 – 3  

 
165. Several persons in a town got the attack of 

leukemia. Which of the following can be possible 

reason for that?     

(a) Exposed to radiation  (b) Drinking polluted water 

(c) Smoking   (d) Breathing in impure ai 

 
166. The energy value of ……… is more than that of 

others       

(a) Fats         (b) Starch   

(c) Protein        (d) Sugar  

 
167. The product formed when amino acid molecules 

combine together is called    

(a) Nucleic acid   (b) Starch   

(c) Carbohydrate  (d) Proteins  

 
168. Women having normal limbs may sometimes give 

birth to babies with deformed limbs. This must be 

due to:       

(a) Spontaneous generation    

(b) Mutation      

(c) Inheritance of acquired character   

(d) Natural selection  

 
169. Hormones are transported to all parts of the body 

through the      

(a) Nerves   (b) Blood   

(c) Lymph   (d) Muscles  

 
170. Deficiency of ……. in food causes simple goiter.  

(a) Sodium   (b) Iron    

(c) Iodine   (d) Calcium  

 
171. Cortisone is used as an effective anti�inflamatory 

drug in the treatment of ……….    

(a) High blood pressure  (b) Arteroisclerosis  

(c) Arthritis   (d) Diabetes 

 
172. Deficiency of thyroxin in adults leads to a 

condition called:     

(a) Tetani   (b) Cretinism   

(c) Myxoedema   (d) Graves diseases 

 
173.  The hormone that is injected to pregnant women 

at the time of delivery is    

(a) Vasopressin   (b) Oxytocin   

(c) Androgen   (d) Oestrogen 

 
174. The outer layer of the eye ball is   

(a) Sclera   (b) Choroids   

(c) Retina   (d) Conjunctiva 

 
175. The smallest bone in the human body is   

(a) Malleus   (b) Incus   

(c) Stapes   (d) Sternum  

 
176. Central nervous system includes:   

(a) The brain and cranial nerves    

(b) The cranial nerves and spinal cord   

(c) The spinal nerves and brain    

(d) The spinal nerves and spinal cord 

 
177. Short sightedness can be corrected by using 

spectacles with….. lens.     

(a) Concave   (b) Convex   

(c) Cylindrical   (d) Opaque  

 
178. Normal sugar level in our blood is:   

(a) 95 – 125 mg/100ml     

(b) 65 – 130 mg/100ml     

(c) 80 – 120 mg/100ml         

(d) 90 – 140 mg/100 ml  

 
179. Labour takes place after …… days of last menstrual 

period       

(a) 300       (b) 280  (c) 365        (d) 240  

 
180. Ram and Shyam started from a fixed place, Ram 

moves 3km to the north and turns right, then 

walks 4 km. Shyam moves towards west and walks 

5 km, then turns to right and walks 3 km. how far 

Ram is from shyam.     

(a) 13 km      (b) 16 km    (c) 9 km    (d) 10 km 

 
181. If, in a code, MIND becomes KGLB and ARGUE 

becomes YPESC, then what will DIAGRAM be in 

that code?      

(a) BGYPYEK   (b) LKBGYPK   

(c) GLPEYKB   (d) BGYEPYK  
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182. 144 : 10 :: 169 : ?     

(a) 14         (b) 11  (c) 13 (d) 12  

 
183. Synonyms of GARNISH                            

(a) Paint   (b) Garner   

(c) Adorn   (d) Abuse  

 
184. Anonyms of A friendly dog meet us at the farmgate  

(a) helpful   (b) understanding  

(c) quiet   (d) Hostile  

 
185. In the mathematical signs interchange from – to +, 

+ to ÷, × to – and ÷ to × then find the correct 

answer of the given equation: 6 ÷ 8 + 2 × 5 – 8 =?  

(a) 27          (b) 18  (c) 32 (d) 28  

 
186. In a certain code language,    

(i) ‘Pea vee nee’ means ‘black is beauty’   

(ii) ‘ta nee ree’ means ‘white is super’   

(iii) ‘ree pea baa’ means ‘black and white’  

(iv) ‘vee the pea’ means ’babies are beauty’ then 

which word in that language means ‘white’                       

(a) nee           (b) ree   (c) ta                   (d) pea  

 
187.  

 equal                                                                                                       

(a) 5997  (b) 5879     (c) 5994  (d) 2997 

  

188.  Bijli Mahadev temple is in    

(a) Punjab   (b) Haryana   

(c) Himachal   (d) Delhi  

 
189. Identify the device through which data and 

instructions are entered into a computer  

(a) Software   (b) Output device                  

(c) Input device   (d) Memory  

 
190. Which one is the result of the output given by a 

computer      

(a) Data   (b) Instruction   

(c) Information   (d) Excursion 

191. IC-Chips for computers are usually made up of  

(a) Lead   (b) Chromium   

(c) Silicon   (d) Titanium 

 

192. Which company launced India’s first social mobile 

wallet “Udio”       

(a) Oxigen   (b) Twitter   

(c) Facebook  (d) Transerv 

 
193.  What happen when a ship crosses the ‘Date Line’ 

from best to East     

(a) It losses one day  (b) It gains half a day  

(c) It gains one day  (d) It losses half day  

 
194. When the Indian constitution was created, how 

many Articles did it contain    

(a) 395            (b) 375  (c) 425         (d) 385 

 
195. The Metro which hasn’t undergone a name change 

since independent is     

(a) Delhi        (b) Chennai   

(c) Calcutta     (d) Mumbai  

 
196. Which country shares longest border with India 

(a) China    (b) Bangladesh    

(c) Pakistan     (d) Nepal  

 
197. Siachen Glacier located in which mountain range 

(a) Satpura   (b) Aravalli   

(c) Eastern Karakoram  (d) Vindhya  

 
198. In which Indian state, the tropic of cancer does not 

passes       

(a) Maharashtra   (b) Gujarat   

(c) Rajasthan   (d) Tripura  

 
199. Which is the period of 12th five year plan of India 

(a) 2012 – 2016   (b) 2013 – 2018   

(c) 2011 – 2016   (d) 2012 – 2017 

 
200. In Indian state having the least poverty rate as per 

annual report of RBU published on 2013  

(a) Arunachal Pradesh  (b) Gujarat   

(c) Goa    (d) Assam
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